2.5b - Elimination (complete).notebook April 15, 2013

Solve Linear Systems by Elimination

« Elimination involves theaddition or subtraction of the equations in order tceliminate one variable
« Once one variable is found, substitution is used to find the other.
» Multiplication can be used to rewrite an equation so that one variable may be eliminated.

Steps leading up to Elimination:

I
Recall, 783 783
-241 +423
542 Z 0l

For the following linear system, would you start by adding or subtracting? Explain your choice.

(M 6x+3y=—4 O 3x-12y=12
@ _S5x+3y=-9 (O Bx+10y=-16
S UBTRALTION AooinG 4o el:minde

4o 6‘(-"74/\4‘6 /5 " doms 4’ he "X ! -Lefms.
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Example 1
Solve the following systems of equations using the elimination method.

a) O 3x—12y:12 and©—3x+10y=—16

O 3x-12y=12 Subsh:lde wsz @
é’ —3x+10y=—16 _39‘40(2) =16
Ox =20y = -4 B 4 20 =-lb
—Z\ﬁ = -4 ~%(= -30
_ = =%
W=z S =
x=12

Therefore, the solution isA 2, )
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Try this one...

by x+2y=0and x—y=3

@ X"’zb =0 $u6‘\a=-l l\"b @
@ xX-4y=3 xX-(-1)=3
O-® 29 =-3 x4+ =3
lj:— X =2

Therefore, the solutionis® - )
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Elimination with “No Match”
It is possible to use elimination when there are no matching variables.
By multiplying every term in one or both equations by any number that will create a match.

For the following linear system, show the multiplication step(s) that you must perform before you
add or subtract.

a) eliminate x b) eliminate y
0, F?/XN—SJ/=6 (8x 5y> (6>3
® (Gx3)=@)" [0 *(2x73)=
@_8’X IQU‘ b qu-lslb =l8
0¥, Fy =-10 10 x »{5\;) =20
- =10
DEF
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Example 2
Solve the following systems of equations using the elimination method.

a) X—3y=0a4a 3x—2y=-7

O (X-39)H0) > sby=-! b
@ ‘3‘){—2!3 == )
B =9 =0 X-3()=0
Ty =-'-7'J X ==3
ng =~

Therefore the solution is<3 ~| )
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Try this one...

2x—=3y=—19and 4x+6y =28
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Homework: T+Bk: P. 216 #2a,b,c,d and 3



	Page 1: Apr 15-8:59 AM
	Page 2: Apr 15-9:02 AM
	Page 3: Apr 15-9:03 AM
	Page 4: Apr 15-10:48 AM
	Page 5: Apr 15-10:49 AM
	Page 6: Apr 15-10:50 AM
	Page 7: Apr 15-10:51 AM

